ELECTRONISC I midterm 2 * November 25, 2008 * 75 minutes * closed books and notes

IDno: SoLLT0AS Name:  €ERUAYH Signature:

1. Find Rg and R in the BJT amplifier such that the BJT has 1.5 mA collector current, 4.5 V collector-
emitter voltage. Find its voltage gain, input resistance and output resistance when it is operated
with a signal source whose output resistance is 10 kohm and a load of 75 ohms. (Assume silicon
NPN BJT, =300, and any value of resistor is available)
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2. Find the operating points of the silicon bipolar transistors given below (§=100).
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3. Find the currents as indicated in the circuit below. Assume the opamp to be ideal, and f=50 for the BJT.
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